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8 s increase the pressure of
the refrigerant so that the Irof_'rigerﬂnt
vapour would be able to dissipate its
latent heat to the atmosphere.
(A) Cold side of system
(B) Evaporator
(C) Compressor
(D) Condenser

1
3
.

3. Arrange the following CMs of Haryana in
chronological order :
1. Rao Birender Singh
2. Banarasi Das Gupta
3. Bansi Lal
4. Chaudhary Dewvi Lal

Select the correct answer using the codes
given below.

(A) 2, 1,4, 3 (B) 1,3.2,. 4

(C) 1.4.3.2 D) 1,2 3,4

4. In a vapour absorption refrigerator, an

analyvzer is provided to

(A) remove water vapour

(B) remove condensed refrigerant
vapour

(C) collect enough refrigerant

(D) maintain suction pressure in ~
evaporator

5. The distance of the point P(1, -3) from
the line 2y — 3x =418

A) \/;"_? B) 13
() V13 (D) 7

6. The motion which is not simple harmonic is
(A) Vertical oscillations of a spring
(B) Motion of simple pendulum &%
((37%gtinn of a planet around the sun
(D) Oséation of liquid column in a U-tube

1. What i . s
8 the 1S rature
fequirement for froze Lion tempe

(A) .10°C
(C) —35°C

er
2020 (11)
- v Bifvaa vz ) it
@ 1 @) 3
2 1
01 (D) 0
A _. Wiz #1 zamm aga & @i |
Wz_amm:ﬂﬁizmﬁmmﬁ \
e & wem 8 o | |
(A) formzn fi 3 ag
(B) 33tz
40y T |
(D) e ,
% Fafafaa afemm F gemtE # FesEmEn ?
a:aﬁsxaiﬁrﬁq:
1. Ta faiz & ¢
g e S a
ol 2 T §52 |
a1 fau e 52 =1 v 0 TR I A |
(Ax271, 4,3 ®B) 1,32, 4
4®Y, 4, 3,2 (D) 1.2,3.4
4 ST o SR # UE TATESH WeH
, Frnsmng
(A) SIeTaTe i g FA & forg
(B) aufia ifirsite ger & fag
(C) Wt eie T F ¥ fag
«(D) 3T | HFHE YW ST @& 5 fog
5. Wr2y-3x=48fgra,-3)Mahe
(A) 3 (E) 13
(©) V13 (D) 7 zg
e/aﬁrrﬁrshmaanaﬁ(ﬁmam’rﬁa)qﬁ%
(A) fom 1 3eir 2w
(B) BT Ugem = T .
(C) §d % =T ST 78 i i
(D) T& J-Z6 | 53 T H e
140 qu (S Tl % for e
it e feram ® ¢
(A) —10°C (By ~15°C
(C) -35°C (D) -45°C
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8. The Charkhi-Dadri district of Haryana | g frmon % S '
was formed in the year ) s 2013 (B) fegsr 2015
(A) December 2013 (B) December 2015 ) T (D T
(C) December 2014 (D) None of these () fegat 2014
& o, ATETA & AT
9. A human body can be considered as ‘9/ HrEd it —_— 2

thermal machine with % thermal arefr wref AT S g
efficiency. (B) 30
(A) 60 (B) 30 (A) 60 20
(C) 45 (D) 20 (©r 45

10. Which among the following scheme was 10. frefafaa R F-H1 FISHT Eimaﬁw"%’ﬁ“t
launched by Haryana Govt. to provide 210w AU T Sl AT kS
solar based home system to meet domestic A ¥ oo o araTid @'ﬂ fieen 3aciey
basis energy needs ? 3 o TE £ 178 oft 7
(A) Swarna Jyothi (B) Graha Jyothi (A) o} sEIfa (B) T2
(C) Jeevan Jyothi (D) Manohar Jyothi © Sfta =i (D) FAIEL

11. Extended surface evaporators are used ld/ﬁ'&ﬂﬁamgmm T fepart ST @
(A) for maintaining compressor inlet (A) FIATT g:réiz ECIE] EF{TQT@% =+ fou

pressure

(B) for maintaining evaporator ( % W 1 w1 TG F fere
& tell;npergitgre 5 fid 2) S 1 3T FAL ’t’h
(C) when air is to be coole D) . Eﬁﬁﬂﬁ?ﬂﬁ

(D) none of the above
Ife e == &1 3THAA 729 cm? ®, @ U H

12. If the volume of a cube is 729 cm?, ther  12.
the surface area of the cube will be | T ods daed TR ERm 7
(A) 486 cm? (B) 456 cm?*~ (89 486 cm? (B) 456 cm?
(C) 466 cm? (D) 476 (C) 466 cm? (D) 476 cm?
13. A material which gets decomposed 1q/a‘|wﬁm§ﬁﬁﬁmr¢%§3ﬂamﬁﬁm
through natural processes, such as action 2 SUHA B4 €, FEATd B |
by bacteria is called as A) m
(A) Recycling ®) -
(B) Non-biodegradable HIHEA
(C) Biodegradable (©) S - AT
(D) Biodiversity (W fafaerman
14. What is the fouling factor in condensers | 14 T E@l E R A FHeqal § Ll
F (WIS Taed) T 2 ?

recommended for copper tubes ?

(A) 0.00009J 'sm?K

(B) 0.00029J 'sm*K (B) 0.00029J'sm2K
(C) 0.00028J 'sm2K

(C) 0.00028J 'sm2K
(D) 0.00018J 'sm?K (D) 0.00018J-'sm2K

() 0.000093'sm?K
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15. The ancient name of t

16.

17.

18.

19.

20.

21.

he river Markanda

(B) Chajju

in Haryana 18
(D) Aruna

(A) Dohan
(C) Yamu
- oness isgiven by €=
Heat Exchanger ven '
(A) Actual heat tram:lf:r ;‘.mmumum

ible heat tra
(B) l\pflo::sclimum possible heat transfer/

actual heat transfer ‘
(C) minimum possible heat transfer/

actual heat transfer
(D) none of the above
cid and pK;, of NH 4OH

[fthe of acetica
P then pH

are 4.76 and 4.75 respectively,
of ammonium acetate solution 18

(A) 0.01 (B) 7.005
(C) 9.51 (D) 4.755
Chemical formula of Freon 12 is
(A) CHCIF, (B) CCLF,
(C) CCIF, (D) CH301

Who among the following freedom
fighters of Haryana was known as the
‘Lion of Ballabhgarh’ ? .
(A) Raja Nahar Singh

(B) Rao Tularam

(C) Rai Bahadur Lala Murlid}

(D) Noor Samand Khan

The area of P-V diagram for a Carnot cycle
represents

(A) heat supplied
(B) heat rejected
(C) work done
(D) temperature drop

A man goes 5km towards east, then he
takes a turn to south-west and goes 5 km.
He again takes a turn towards north-west
and goes 5km. With respect to the point
from where he started, where is he now ?

— 2 o1 TR A R
1’5'/(1\)?'3: (P B4,
(©) I, (D’;:;"
fyfrera et &1 y &=
éﬁ//?; me/aﬁﬁﬂmm
B) %ﬁﬂammlmm

A 2 :
(D) 3 | & HIE ALl

afz ofafes ma?lpKaﬁINH.,OHﬁlp[{h
7 S 4.76 3 4.75 &, @ wEH UfEee

faema = pH%

(A) 0.01 (B) 7.005

(€) 9.51 (D) 4.755

A FAT.12 % TEEtE g R
. d ig%ﬂcwz (B) CCLF,
@) CCIF, (7 CH,CI

& e ¥ frefafs e Gt § @
g “FoetyTTe 1 I FaET ST 91 ¢

(& T e T5e

(B) & goAH

(C) T STETgL ST JLeAte

(D) T @H

T FHIC W % o P-V 3@ F Sawa
Z9Tian 8

(A) 3mqfd T3 T g

(B) @iits foran 1 am

(C)%m'

() aE ¥ e

M@Eﬁﬁﬁkm‘@ﬁm‘eﬁﬁtm%,ﬁ;{@
afeor-fyem fomm i 3R T2 5 km TT@
2 | e, 7= sw-ufvem fem & sim gz 5
km ot & | Fore o @ 303 = o e

m,mqﬁﬁaﬁm;ﬁasmaﬁﬁwn?
@ (B) I
(C) ufv=m (D) =f&o

(4) East (B) North
(C) West (D) South
o

s
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22.

24.

25.

26.

27.

28.

29.

pature of ammonia is
(B) 157.2°C
(D) 36.5°C
Which among the following Chief Minister
of Haryana had declared complete
rohibition on Liquor in State ?

(A) Dew Lal (B) B. D. Gupta
© Bansilal (D) Virender Singh

What is the operating pressure of
refrigerant ammonia at 40°C ?

(A) 15.33 bar (B) 15.54 bar

(C) 16.638 bar (D) 9.6 bar
Kushana Period is famous for the grow th
of thas Greco-Roman Art

(A) Nagara Style of Art

(B) Mathura Art

(&) Gandhara Art

(D) Vesara Style of Art

In Haryana, Deru 18
(A) A kind of refreshing drink famously

consumed in Haryana

, critical tem
(A) 132.4°C
© 31.0°C

(B) An instrument made of wooden
shell

© A festival celebr
spring season

(D) None of the above

ated to welcome tY

The atmospheric conditions arg_ »°U DBT
and specific humidity of 10 gm/ke of air.
Determine the partial pressure of vapour.

(A) 0.0163 kgfcm2 (B) 0.0268 kg/em?®
(C) 0.0358 kg/em? (D) 0.0465 kg/cm®

Which of the following Harappan sites is
the largest site in India ?

(A) Kunal (B) Mitathal

(C) Rakhigarhi (D) Bhirana

In a power station, 218 tons of coal with
a calorific value of 29.5 Md/kg is burnt
per hour. If the efficiency of conversion
is 28%, determine the power developed.

(A) 250 MW (B) 434 MW
(C) 350 MW (D) 500 MW

-

LI G e -y

@ﬁmﬁﬁﬂﬁﬁm
Maﬁr&%@'ﬁﬂﬂﬁﬂﬂ
(©) aﬁaﬂmmﬁmﬁ%mm
73 e U S
(D) I B 8 T
et feafat o50c B & I
mgmncgﬁﬁﬁmauimﬁiamm
zamg 914 |
(A) 0.0163 kg/cm?
(C) 0.0358 kg/cm?

ﬁﬂ%ﬁaﬁﬁm—mmmmﬁ
o g A R 7
B) Tamaa

(A)
T (D) frn

/ 4 v
29. U WA YA H, 29.5 MJ/kg F Feriieh
77 g 218 7 e Aid T T S
2 | 7f wurao F 2&d 98% B, A1 fartea
rar &1 Fafo )

kb

(P) 0.0268 kg/em®
(D) 0.0465 kg/cm?

28"

(A) 250 MW (B) 434 MW
(C) 350 MW (D) 500 MW
o
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ﬁ lled ﬁn%%aﬁﬁéﬂ-mﬁmm‘“m%?
30. Which of the following are also calle 30— . o -
 shooting stars ds o i & 7
(A) Rockets e () I (D) T
I‘ Meteors (D) None of these
e agéraasﬁam,ﬁﬁﬁﬁm*@amq
31. The language processor that tTalnHlalt?s n }J’ mmmﬁ mm% Gﬂ"{mm
single statement of source program into e @'{'a vt ; 2w
machine code and executes it immediately mli-'éi 3| Rl
before moving on to the next line is ¢z _
(A) Compiler (B) Assembler pay W (B.) TR
(C) Feuhie (D) FaH

(C) Interpreter (D) Converter

34, 200C & 0°C W F T R | FH FH
AT ~10°C 2, Wi 1 HP 52 # 391 %

Ice is formed at 0°C from water at 20°C.

32,
The temperature of the brine is —10°C. .
Find the ice formed per 1 HP hour. #F o . | SiafF i WTﬁ fardia FHe
Assume that the refrigeration cycle used TFE |
is perfect reversed Carnot cycle A - ETF a1 = 80 keal/k
(Latent heat of ice = 80 keal/kg) mﬁﬁaf_ *\_i e aji " o
(C) 73.56 kg (D) 78.89 kg (CR73.56 ke (D) 78.89 kg
33. The First Women’s State University of | 3% ¥famm ¥ ugel ufeen 7=0 fHvataarem =
Haryana is named after . A F A W I AR
(A) Swami Shraddhanand . (A) @t ggHe
(B) Bhagat Phool Singh ;(BT'WTH wa T
(C) Swami Dayanand (C) Tl 2aTE
(D) Kalpana Chawla (D) F=941 STl
34. Freezing point of sulphur dioxide is 3\4/ o SATFEEE F1 fenis BT 2
(A) -50.8°C (B) -73.2°C (A) =50.8°C (B) —73.2°C
(C} -77.7°C (D) -56.6°C (C) S L7 oy iod. O (D) -56.6°C
5. A describes all the data concerning /‘){ N ik e oo 3?@"3-! gafuq asft
one person or thing. €21 1 FUH AT R |
(A) Relation (B) Record (A) ferem @By frartd
(C) Freg (D) T5a

(C) Field (D) Table
. In 1886, Lala Lajpat Rai started his ,5{ 1886 T, T ISIA T4 3 319+ Teell SeTed
1¥law practice at q RIS Fi |

(A) New York (B) Lahore (A) =T BT wEn
(C) Hisar (D) Rohtak (©) femm (D) Treer

&
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37.

FEP— works on continuously
able aspectsof physica) phenomenon

,duwch‘ga; fluid pressure, mechanical motion

and electrical quantities,

(A) Digital computer

(B) Analog computer

(C) Hybrid computer

(D) Micro computer

The process of continuous heating and
cooling of the equipment or system by
varying the heat load is known as

(A) sensible heat process

(B) latent heat process

(C) degree of saturation

(D)) none of the above

38.

wascarved out from Bhiwaniand
formed as a new district of Harvana.

(A) Jind (B) Charkhi Dadri

39.

(C) Jhajjar (D) Hisar
Heat removing capacity of a one to~

refrigerator is
(A) 25 Keal/min (B) 50 Keal/r
(C) 60 Keal/min (D) 100 Ke- R

40.

Which among the followin s low

resistivity ?
(A) Silver

(C) Manganin
200 cu. m. of air per min. is passed
through the adiabatic humidifier .The
condition of air at inlet is 40°C DBT
and 15% RH and the outlet condition is
25°C DBT and 20°C WBT. Find the dew
point temperature
(A) 8.5°C

(C) 9.5°C

In the battle of Plassey, the British East
India Company’s army was lead by
(A) Lord Wellesley

(B) Lord Cornwallis

(C) Robert Clive

41.
(B) B ,féanese
(D) Giass

42.

(B) 10.5°C
(D) 12.5°C

43.

1/2020 (11)

(B)

(VR 2

(D) AT T -
Wmmm# .

%“:ﬂ:@mmamﬁmm*

) difiraret AT S

» aizaﬁm

(c) wgfa 1 ferh
() A & T
1 firart & foraren T SR EfrETn
@qmﬁmmﬂ'ml
( arefl

(C) F=1 (D) feam

o 7 sttt 1 el T ) g
(A) 25 Kcal/min B7 50 Keal/min
(C) 60 Kcal/min (D) 100 Kcal/min

4 Freferfiaa § @ frad wftusa a2 7
(B) #=
(Dy 4
42. ufmmates sgfatewma & mom 8 vfa e
200 cu. m. BT AT & | 3 T EA H
feufa 40°C & &t A 3 15% IR T 2 3R
smszere Fi feufa 250 € & & 3w 2000
T #fl A 2 | 3 forg avomm . e & |

38.

o

(D) Sir Eyre Coote

(A) 8.5°C (B) 10.5°C
# 9.5°C (D) 12.5°C
‘9,, T #1 =g 1 fafew &= 3tem wolt F

1 1 g frem o an 7

(A) T TS

(B) ST FHare|

(C) T FTga

(D) 8T AR F2
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44.

45.

46.

47.

48.

49.

50.

barometric pressure 10 mim

What is the $
i rude of 2280 m ?

Hg for a alti
(A) 760 (B) 693
(C) 633 (D) 577

llowing program
aryana Govt. 10
er in the field of

Which among the fo
was launched by the H
develop skilled manpow
renewable energy ?
(A) Swarnim Jayanthi Scheme

(B) Surya Mitra .
(C) Ujwal Assurance Yojana

(D) None of the above
The operating system takes care of
the allotment of CPU time to different
processes is called
(A) Allotting

(C) Time sharing

(B) Processing
(D) Scheduling

3-4ix
3+ d1x

. then the value of

If x=if=

(}(2+ BZ:

(A) 1 B) 2

1
©) 5 D) 5

Indira Gandhi University in Hary~ /as

located at
(A) Hisar
(C) Ambala
The measurement of thermodynamic
property known as temperature 1s based on
(A) Zeroth law

(B) First law of thermodynamics
(C) Second law of thermodynamics
(D) None of the above

(B) Rewari
(D) Karnal

In 1946 ‘The Objectives Resolution™ in
Constituent Assembly was moved by

(A) Pattabi Seetharamiah
(B) Dr. Babu Rajendra Prasad
(C) Dr. B. R. Ambedkar

(D) Jawaharlal Nehru

9/‘

1/2020 (11)

2280%%?31%%%“_ min Hgﬁ'&ﬁﬁm
1 zard FR 7
() 760
(C) 633

(1) 693
(1)) 577
AR 3 a0 T arAifR

nmmrﬁaauﬁnfaﬁaﬁﬁimi‘n—m%?
(A) T=Afig Fdl AT

(3) g4 =

(Cy3vae UFATA AT

(D) 3% # @ F18 T

Eefurm wfsil F1 difr @ F A

el STl 2 | .
) sz (B) T&=R
(©) ZI?W (D) T
AT gm'*-ig:z‘::’;,?huu B2 U 2
(A) 1 (!}_) 2
(C) 5 D) 3
7 3 i favafmrem wiwmm kS
from 2
() feam B T
(C) =T (D) AT
19: aﬁgmmﬁﬁ@mw,ﬁmna:m
2, 7= i Bren 2
(A) YA (o) =1 fFem
(B) & =1 Teen fam m
(C) 9| F1 28 FEm W

(D) A A AFE TE

1946 8 Bfaum™ @ 1 ‘3293 waE s
gm0 Uy e o ?

(A) TTs Sarmen

(B) &l 91g Teiz TamE

(C) 2. &1, . srEEE

) TR 2R

52./
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52.

53.

54.

55.

gtate tree of Haryana is
(B) Mango
(D) Neem

(A (Coconut
(© Peepal

Dew point temperature lines on the

I,sychomelric chart are

(A) straight inclined slopping
downward to the right

(B) curved

(©) vertical

D) horizontal

____is a small silicon chip or
wafer made up of extremely purified
silicon crystals.

(A) Microprocessor

(B) Vacuum tube

(C) Integrated circuit

(D) Transistor

At which place the battle between € yenceral
Lake's British forces and the Marathas
took place on 6™ September 1803 7
(A) Pratapgan) (B) Panipat
(C) Gurugram (D) Hisar

.out BS
standards

Choose the correct stateme”
(Bharat Stage) — VI emis’
of the Government of Ind

(A) India is currently operating on the
BS - V emission norms.

(B) The Central Government has
announced that from April 1, 2022,
all vehicles sold in India should
comply with Bharat Stage — VI or
BS — VI emission standards.

(C) The BS standards are the legal
limits on the amount of air
pollutants like carbon monoxide
(CO) and particulate matter that a
vehicle in India can emit.

(D) None of the above

.12
Y

1/2020 (11)

(M?-:;a :m

i st T
/(mmjﬁaﬁaﬁﬁﬁ A

(B) FF

(py e

() &fe= R

54 mmmmﬁaﬁﬁﬁmwmm
7 e ¢ ot 1803 F TG T
(AT (B) GHIIA
(C) T (D) femm
Mumm?m?ﬂm(méa)-wm
e ¥ A # Frafafaa FuRi 18 78 FaA
catech
(A) =TT § T 1 T -V IeEs
T F1 T T Sl 2|
(B) ¥ aen A deen ) R T 1 e,
2022 ¥ WA 3§ 9 94 are) 81 F1eA
WA T - VI At T - V] IeEs
T T SAIEA F01 |
(C) = 8 TF FEE AREEEE (CO) 3R
ez et 8 =1 TV o Jei
) 5N ) FELN W 7 R,
U ATE WA 8 3o o7 S Bl
(D) 3% 8 8 F1E 7
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58.

60.

61.

62.

(D) Condensation

(B) before expansion valve
(C) between compressor and condenser

Pick the odd number.

A) 7514
(C) 189 ;¢

- Jim ruler of the
first Mus 3

Wiy wiks 10 Harvana

Slave dynasty in
(A) Razmn Sultana
(3 Hratmsh .
() th-ml-dm Aiba
(D) Ralban |
\ syatem comprising @ cingle phase 12

knﬁ\\' nas

(A) open system

(B) closed system

(") homogencous svstem

(D) heterogencous svstem

Halophytes are

(A) Plants adapted to grow
water conditions

(B) Plants adapted to growing

conditions = P wn
(C) Plants adapted to growing in high

temperature conditions
(D)) None of the above

ing in less

in salinc

Which Chapter of Haryana Panchayati
Raj Act, 1994 deals with Duties and
Funections of Zila Parishad ?

(B) Chapter XJ

(A) Chapter X
(D) Chapter .|

(') Chapter IX

In mechanical refrigeration | stem, the

refrigerant has the maximum temperature

(A) in evaporator

(D) between compressor and evaporator

(B) 437 - 0
(D) 347 ;~

Adiabatic dehumidification is based on
the principle of
(A) Expansion
(B) Adsorption
(C) Evaporation

s

1/2020 (11)

/i e 41 7 S G TR ) 7
(A) TWam gear

(B3) Fe

(OF FA-F2-dA T
(D) Fcta4

57" fore faree i o 0 51 €, 30 A 8
L . ﬁ

58, FeETERE €

(.-\)maaﬁr:}ft@ﬁm‘iﬁwﬁ%a%n

" i

(B) wﬂuwﬁf@ﬁa‘rﬁﬁ B euck Ay
afefefai # 3 & fog

(C) I==9 dM

- AFFfer h
_(Sbmﬁﬁﬁlé?ﬁ‘i

59 e e T SRR, 1994 F HHE-
" ;mmﬁmwm%ﬁaﬁaﬁﬁmﬁ%ééﬁm
?

(Ay S X (B) 313 XII
(C) =A™ 1X (D) =A@ XV1

Jmmmammm
GIERIERAGIE

(A) 39T &
(B)ﬁganm%qgé
(©y T A FLTW F S
(1)) FIEE 3717 T & ==
61,/ STETTd TE H g |
/Lm 751
(C) 1894 \¢
62,/ wgre Pl fFm fagra W et @ 7
(A) THWI (FEFETIH)

(B) 437 <~
(D) 347 =™

30
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3. Natonal Dairy Research Ingyyye

established at in 1993 h{:aa
shifting to Karnal distriet of Hﬂr&'nn .
a.

(A) Mumbai
(C) Bangalore

(B) Chandigarh
(D) Delhy

(Calculate the critical pressure of O
ideal gas equation and Van der
equaton.

(A) 180 bar, 80 bar
(B) 200 bar,70 bar
(C) 173 bar, 65 bar
(D) 150 bar, 90 bar

N Llning
Waal's

If in a certain language ‘REMOTE’ is
coded as 'ROTEME’, then which word
would be coded as PNIIC(C ?

(A) NPILICC (B) PINCIC
(C) PICNIC (D) None of these

‘.

‘Ratnavali’ 1s a famous work of
(A) Kalidas (B) Harshavardhy
(') Banabhatta (D) Nagachan”

66.

The comfort conditions in air
conditioning are at (where DBT = dry
bulb temperature and RH = relative
humidity)

(A) 25°C DBT and 100% RH

(B) 20°C DBT and 80% RH

(C) 25°C DBT and 40% RH

(D) None of these

67.

Japan has a parliamentary system with
the as the head of the State.

(A) Emperor (B) Prime Minister
(C) Chancellor (D) President

68.

fibers embedded in plastic
material are used in tennis rackets.

(A) Glass
(C) Graphite

(B) Aluminium
(D) Silicon

4

S

887 T Bafh SR

o

172020 (11)

FraA #1920
1 zerfora faean T 41|
(B) FEMg
(0 faeeh

(A) Tt

(A) 180 9N, 80 R
(B) 200 TR, 70 AR

() 173 AW, 65 AR
@)150 T, 90 TR

af2 ve fafeaa s # REMQTE' #1 E A
‘ROTEME ®, 1 foFm 7152 1 #12 PNIICC

?
g)\%’u(‘c

,{C) PICNIC

(B) PINCIC

(D) T & s A

R FHEtm fafa R
(vl @ #ft A = o Foa Y AIHE HN
R UL = FE )

(A) 25°C DBT 3T 100% RH

(B) 20°C DBT 3 80% RH

(er 25°C DBT 3 40% RH

(D) T 8 F1E T8

68,19 1 FHEE Joent | T
W@ B 2 |
(A) HHR

(Cy ST

(B) U
(D) T
71a 8, 28 e 1§ wam e s R

(A) F (B) UegHifam
(C) THTEZ Dy fafemia
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70. Shivahlk hills are not found 1n e
- destrict of Horyania. o
A\ Y amunanagar £ h.ﬂhj la
(M Panchkula (1) Ambal
71.  Which pipe material 18 not used with
ammonia 7 X
(A) Aluminium (B) Copper
(© Iron (D) None of these
72. Mount Pinatubo {\'uh‘;mnI"““'""““I]“'-“
Jocated in which of the following country .
{(A) China
(B) Japan
(C) Philippines
(1) None of the above
73.  Match the following.
Battle Year
a. 17" battle of Pampat 1. 1526
b. 2° battle of Panipat 2. 1556
¢. 3 battle of Panipat 3. 1761
Codes :
a b ¢
A) 3 1 2
B 3 2 1
@€ 1 2 3
(D) 2 1 3
74. In the following question, some of the

letters are missing. The missing letters
are given in the proper sequence as one of
(f_nr alternatives given under the question.
Find out the correct one.
FSL_VIS_uv_stu_rst_ _
(.-’:) utrvuy (B) uvtrsuyv
(C) uvtrstu (D) rstrsts

75.

Leakage in a refrigeration system using
Freon as refrigerant is detected by
(A) Halide torch (B) Sulphur stick

(C) Soap and watey

(D) Acetylene test

-12-

/zf

)

Alavray \11)

i e ard el | Arcer

(A) AHATAT ¢ ;

() By S
p/mﬁm%mummmm EXQINE

fFEm Tt 2 7

(v sfufm By
() Al (D) FH 8 = 7

mm(amrg@ﬁq?iﬂ)ﬁﬂ%%ﬁﬁ
afrmamifoae?

(A) ¥4

(B SR

(C) foreiifa

(D) 37 § & F1 A€

a3 Tt 1 fiemza |

T3 a9
A JHNEHF T IS 1. 1526
uHTa w AR A 2. 1556
o wTE wgERgE 3. 1761
Codes :
a b ¢
; A 3 1 2
@ 8 2 1
"1 2 3
M 2 1 3

feferiea ve d 3 ster g € | e stend
%1 30 F0 1 uw ¥ = v freen ¥ w9 4
fem e & | v fomen =1 93
rst_vrs_uv_stu_rst_ _

(A) utrvuv (B) uvtrsuv

(C) uvtrstu (B rstests

w/%&m&%wﬁﬁwhmmmt{a
ifpsitem fowem W fame =1 v feess o
ST S R 7
(py deER A
(C) BT 3T TR

(B) "o s
(D) ufafeem aiiem
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76.

77.

78.

79.

80.

81.

82.

The Carnot cycle consistg (,

f ,
processes and o adiabatic
(A) two 1sothermal Processes

(B) two constant pressure P
' Processe
(C) two constant volume Procesge :
8

(D) one constant pressyre Processe
s

Complete the givep series

.37, 18, 21.%
(C) 29 (D) 27

The process mvolving the flow of air
through a spray of water is done by

(A) Air washer (B) Water injection

(C) Steam injection (D) Heating coils

Which famous academician of Harvana
has served as the Governor of Kerala and

/2020 (11)

76 L Kbl S
Lk i

(A) 21 amaTrg wiEwand

(B) 2 feo zama wiwamd

(©) 1 fe s v

(}a{@fﬁnzﬂﬁm

.3, 1, 13, 21, 78y
SAr3l

(B) 33
(D) 27

78~ W 35 U 1 3 WS | E 3 AT e

() 29

Gujarat ?

(A) Swaraj Kaushal
(B) Sushma Swaraj
(C) Sarup Singh

(D) Om Prakash Jindal

Which report is considered ax “Magna
Carta of English Education in India™ ?

(A) Sir Charles Wood's Despatch
(B) Hunter Commission Report
(C) Mecaulay’s Report

(D) Kothari Education Report

How many orbitals are possible for the
leveln =47
(A) 14
(C) 18

(B) 12

(D) 16
Hali Award is given by

(A) Haryana Punjabi Akademi
(B) Haryana Urdu Akademi
(C) Harvana Sanskrit Akademi

(A7 T AT (B) T THFH

((;)Qqéﬁlﬂﬂ (D) #fén Figat
J8. e % fre wfeg frenfar 3 @ o
' %%m%mﬁmﬁm%?

(A) =S T

(B) o1 =0 %

(C) Ty famw

(D) 3Tm yFm S==

&0, g o =1 “wra B sk fen = A
F A AR ?
(A I IW feem
(B) & smam = o
() B o g
(D) Frar foen foard

w.:w%mm&mmm%?
(A) 14 M:&
(C) 18 (D) 16
MM_HWMMM
(A) EEmom 9l s
(C) famn FeFa e

(D) Haryana Hindi Akadem

(D) & & s=eh

18-
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English Lan
a sentence has

: on,
In the following quest Passive) voice.

" n ;ww ‘nr
been given ][ernnli""’ !uagpgtod.

he four a
;:'Il:c;";!::rom which best oxpn-mm‘zho
same sentence in Passive (or Active)
voioe. | t
You must look into this matter.
(A) This matter into looked by ,\:;)u
(B) This matter should be looked into

by you .
(C) This matter may be looked nto by
you
@) This matter

vou

has been looked into by

Read the following sentence tO ﬁ_nd’out
whether there is any error in it. The
error, if any, will be in one part of the

sentence. Mark the alphabet of that part

with error as yvour answer.

She uses a good / quality of shampoo /
(A) (B)

so0 her hairs are / black.

(C) ~D)

845 Fill in the blanks with a suitable word from

86.

L3

among the alternatives given below it.
he went to wor’
(B) and

(D) since

He was tired
(A) or
(C) but~

In the following question, some parts of

the sentence have been jumbled up. You
are required to rearrange these parts
which are labelled as P, Q, R and S to
produce the correct sentence. Choose the

proper sequence,
P. a valuable aid to education
Q. the cinema offers

R. not only amusement

S. but is also
(A) QRSP (B) RQSP
(C) SPQR (D) QSPR

fe=h v

87, ¥ A afers srpara # srnta T sy

88

8/9”

90.

(A) TrTa
(B w1
(C) @
(D) wd

Hmﬁiaﬁﬁmm.qasﬁaamml

‘sﬂmaﬁwmmiﬂmﬁr

(A) Yien va qETe @ite arem |

By If v F1 Te e A yufoy
TR A TS |

(C) e =1 T g @ off safiu g
Qe

D) 7 & Fré 7

| @ qe v, T| A= fFm

FETET 2 |

(A) STFHF

(B) Tumeis

(C) TFdF

(D) 99 & #ré 7

72 faemm =71 worm 2yt ww 2

(A) JqHTEE]

(B) TeArae

(C) ITTEed

(D) 378 & #1$ T
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